Math 3200 Chapter 11 Unit Test
Name :________________________(total : 34 mks)

Date: __________________

Part A - Multiple Choice.  Put your answers on the spaces provided on the 3rd page. (14 mks)
1. In how many ways can Noah arrange 7 books into 4 slots on his bookshelf?
A) 35


B) 420


C) 210



D) 840

2. Evaluate:
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A) 12


B) 60



C) 480


D) 720

3. Which is NOT equivalent to 
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B) 
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D) 
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4.  The following items can be arranged in any order, avocado, pumpkin, eggplant, squash, and watermelon.  The manager does not want the pumpkins and watermelons together. If this is the only restriction, the number of possible arrangements is
a. 5

b. 45


c. 72


d. 120

5. Which of the following is the expansion of 
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C) 
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6. Solve for n:
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A) 3


B) 4



C) 5



D) 6

7.  Determine the 3rd term in the expansion of [image: image14.png](2x — 4)5
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        a.   20480[image: image16.png]


       
 b.  -40960[image: image18.png]


       
 c.  -2560[image: image20.png]


        
d.  1280[image: image22.png]



8. Evaluate:
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A) 
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D) not possible
9. How many term will there be in the simplified expansion of 
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A) 7


B) 8



C) 9



D) 16
10. Miss Piggy and Kermit have 5 baby froglets.  In how many ways can this family arrange themselves for a photo if the froglets have to stay next to each other?

A) 1440

B) 720


C) 
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D) 240

11. There are 12 teams in a soccer league. If each team must play every other team twice how many games will be played in total?

A) 
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B) 
[image: image30.emf]


  12C2










  

12

C

2




C) 
[image: image31.emf]


  12P2  ×  2










  

12

P

2

 

´

 2




D) 
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12. How many different ways can the letters in the word MATHEMATICS be rearranged?

A) 4989600 

B) 11 !



C) 55440


D) 79833600

13. Solve for n:
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A) 5


B) -7



C) 5 and -7


D) 7

14. Which of the following statements is true?

A) It is not possible to calculate 
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B) It is possible to get a negative answer for 







    a factorial expression.

C) 
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Answers for the Multiple Choice Questions:

1._______
2._______
3._______
4._______
5._______
6._______
7.________

8._______
9._______
10._______
11._______
12._______
13._______
14.________

Part B - Answer all of the following questions. Please show all of your workings in order to earn full marks. (20 marks)

15. Algebraically solve for n:





(4 mks)
  n + 1 C n – 1 = 6

16. a) How many 5 digit positive numbers can be formed if repetition of the digits is 
allowed?


(1 mks)

     b) How many 5 digit positive numbers can be formed if repetition of the digits is allowed 
and the last digit has to be odd? (2 mks)

17. Use the Binomial Theorem to expand 
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(3 mrks)

18. A research team of 6 people is to be formed from 5 chemists, 6 politicians, 7 economists, and 8 mathematicians.  How many teams have:

a) at least 3 mathematicians







(5 mks)

b) exactly 2 economists








(3 mks)

c) no politicians









(2 mks)
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